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7) Abhasra invests $1,162 in a retirement
account with a fixed annual interest rate
compounded 6 times per year. After 15
years, the balance reaches $2,858.02.
What is the interest rate of the account?
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8) Krystal invests $7,442 in a savings
account with a fixed annual interest rate
After 7 years,

compounded continuously.
the balance reaches §1§,1£7.61. What is
the interest rate of the account?
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9. ‘o1 2000 - 2010 a city’s population decreased continuously at a rate of
@ If the city had 2,950,000 people in 2000, determine the city’s

nonulation in 2008.
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10.  Your new computer cost $1500 but it depreciates at a rate of about 18%.
When will the computer first be worth less than $500?
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